
קרנפים - לומדים פה חשבון

1דף-וחיסורחיבור-מכווניםמספרים

פתרו את התרגילים הבאים:

(+30)+(-15)=

(+10)+(-12)=

(+45)+(-50)=

(+50)+(-45)=

(-15)+(-15)=

(20)-(-20)=

(-35)+(-25)=

(13)+(-6)=

פתרו את התרגילים הבאים:

(+7)+(-8)+(-5)+(-4)=

(-11)+(+5)+(-11)+(-3)=

(-1)+(-2)+(-3)+(-4)=

(-11)+(+7)+(4)+(-13)=

(-110)+(+20)+(-90)+(-20)=

(+42)+(-43)+(+24)+(-34)=

(+100)+(+22)+(-11)+(-99)=

(-32)+(-31)+(-11)+(+17)=

הוסיפו את הסימנים < , > , =

(+8)+(-9) _____ (+7)-(+8)

(-3)+(-9) _____ (-7)+(-4)

(-7)-(-11) _____ (+3)-(-2)

(-3)+(-1) _____ (+4)-(+6)

(+8)+(9) _____ (+8)-(-8)

(-18)+(-12) _____ (+17)-(-32)

(-5)-(-9) _____ (+3)+(-1)

(+5)+(-10) _____ (-5)-(-5)
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